EARAROBEEIERT — 2 N— IBISH —F

2018%3A6H (X) 27EIEMH4H

m C2— %3R4t ‘ =z # ‘ (rsh] — | & (&) 14000 &
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s NN HEFE= -31. —7-6- . — TE¥z (BM
B 1 AR REZAY - ) 1(3_1)6 eS| %3 k :1_142) (B) TAL4E
L= MLEYIL BifLTy b DS
5 o, B4 | ENEE 1:31.8 1-1-1-1 |39.0| — 5 469 | EIRTEIEE ()
2 5| TSF—NERR 4.0 (3/4) 1) | @R 55527y —2s 58— K
L:d—IR7PUa—b B:IFI—N—F ERS
L He 31 —6-0- 8| - AR ()
N - BERY: i o4 B 1(33/14)9 5-6-2-3 | 38.8 2 (4_613) s
L:x A1y —R B/ b Y+ AT
L E . - 8 4 4 | TRE 1:32.1 4-4-3-2 [ 39.1| — 1 505 | =TTk (FEf)
sl 6| vEV7TFIO 57.0 ) (-3) | ERAET
L:a=/xLlLy b BRSAIRITHY LHRE
Ly = # 6 | MHEH 1:32.3 2-2-4-6 [39.3| — 7 457 | RFIRF (EH)
517|777~ kTFE=I 54.0 (11/2) 1) | W) FIvaTy -2 K
g/ XLy b B:¥xyXTzAT7— sk ve
B 4 | EEHE 1:32.6 6-5-5-4 |39.6| — 8 493 | ElII¥EE (EM)
6|78 EXA 54.0 (1 1/2) 0 i%*ﬁ?l
L:F1—TZAHA B:LT1E-—FZ HRSHE AEXT—TIL
# o9 | REHEL 1:32.7 7-8-8-7 [39.0| — | 9 | 478 |HEB (@)
718110/ 7L—IV 7T X b 56.0 (1/2) (-1) | HLE®
R:2Y2Y3Y B:HYCILTT [E]=sEaed
- s - R EBELSR : -10-10- — KIFER ()
gl1l1|=1xnses—n # 10 el 1(73%:) 10-10-10-9 | 38.3 10 51_742) A
RO—TXAL AL B:IURF4F vy b e —B
S —F o4 | JRE— 1:32.7 9-9-9-8 [38.7| — 3 473 | EEHE (EM)
EEQ F—=3IN—TFT1> 56.0 (74%) (-8) |BlaEE
L:a2=/FXLLy b B:YLILTFTT— 435
= = it 6 | ALRE 1:32.7 3-3-7-10 [39.5| — 4 502 | RFIER (EH)
10/ 8|9 TAFIvT 54.0 (NF) -6) BN
o4O B:7zVYTF1— ke
® 1—F—@EBIERL
1T=7r= 5,7,9,6,3,8,10,4,2,1
2a=5"= 5,7,9,6,8,3,4,10,2,1
Ja=5= 5,3,6,7,8,4,9,10,2,1
43—+ — 5,6,3,8,4,7,10,2,1,9
[ /N
B 4 2,190 714K 4-5 1,320 B 4-5 5,130M JEE 3-4-5 6,150/
B B 4 260M 3-4 820M B = 4-5 5,400 JEE 4-5-3 55,100
5 290M 3-5 870M B H 4-5 11,110
8 170

ABICOVWTRDTEEERROODE. TR LIV,




